Mathematics |th, Gujranwala| Group - |
- | Board, 2015
(Time:20 Min. | Objective | Marks =15
Note: Four possible answers A, B, C and D to
~ each question are given. The choice
~ which you think is correct, fil that circle

“in front of that question with Matker ‘or
Pen ink. Cutting or fllhng fwo ‘or more
circles, will result-inzero mark in that
queshon |
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m If three pomts lie on the same line, then
these points are called

(A) collinear ~ (B) non-collinear

(C)parallel (D) unparallel
m Medians of a triangle are

(A) concurrent  (B) paralle '

(C) opposite (D) non'collinear

mThe — of circle is on the right
“bisectors of each of its chords.

[A) chord (B) radius
(C) centre (D) sector
m —has nounit,
(A) length (B) width
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i mParallelograms, op ‘équal bases and
- haying the same (or equal) altitude are
____inarea.
(A) wequal (B) equal

(C) congruent” (D) similar
IBA quadrilateral having each angle equal
0 90° is called
(A) parallelogram (B) rectangle i
(C) trapezium (D) hombus




